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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very -----—--- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the --------- - of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial ---------- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches 4) constraints

The pattern -------—- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be ----—----- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in---------- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) ~——-—-- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -—------- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali ---------- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible t0 ~------m-- :

1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) --—------ destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3)in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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Part C. Reading Cmprehensinn

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then
mark if on your answer sheet.

16-

17-

19-

20-

PASSAGE I:

Natural gas sweetening by use of alkanolamines is one of the most frequent and widespread
techniques in gas processing in industry. According to the diversity of amines and their inherent
advantages and disadvantages there are different designs for each specific case. Main utilization of
sweetening process is in absorption and stripping columns. So, precise and logical design of the
required elements according to the chosen amines, process conditions, corrosion problems and other
design parameters have very serious effects on proper performance of the process and long duration
of equipment. One of the major topics under study is through designing of stripping column in order
to segregate acidic gases from amine stream. According to the corrosion problems and hard
operational conditions that are present in the stripping column, and by taking into account that this
part has a very vital effect on other parts, its proper design either internal structure or external
structure can effect the whole plant. One of the design parameters is related to the internal structure
of the column, and that is whether to use trays or packed bed. This can influence the plant from

different views like reduction in reboiler duties, quality and quantity of stripped amine, ratio and
also problems due to corrosion.

The underlined "This' refers to ---------
1) tray

3) the design parameter
We understand from the
1) the stripping column

3) the corrosion problem

2) packed bed

4) the internal structure of the column
passage that a major constituent of the sweetening plant is

2) the amine used

4) separation technique
The word "segregate" as used in this passage is closest in meaning to —-—--—--

. | LEF
1) displace 2) differentiate 3) replace 4) substitute T
We conclude from the passage that the higher the corrosion rate, the ----———— the duration of =
the equipment,
1) longer 2) shorter 3) more constant 4) more variable
We understand from the passage that the desi

gn of the gas processing technique depends
mainly on ——--—-—-

1) advantages and disadvantages of the technique 2) diversity of the techniques
3) the sulfur content 4) the type of amine used

PASSAGE II:

Prior to taking samples, all sample containers should be properly cleaned. They should be placed in
a vertical position with the bottom valve opened to drain all free liquid. They then should be
thoroughly steamed out or washed with distillate, gasoline or cleaning solvent. If a solvent is used,
the washing should continue until no color is shown on draining. Following a solvent rinse, fresh,

clean water should be flowed upward through the cylinder and allowed to overflow out the top until
the fluorescent oil film disappears.

The underlined phrase "prior to" here means ------—--

1) as 2) after 3) before 4) when

The word "overflow" as used in the text is closest in meaning to --e—-m—-,

1) edge away 2) flow out 3) inundate 4) reach

From the text, it can be inferred that the fluorescent oil film disappears providing that -

1) a solvent rinse takes place properly
2) clean water flows over the top of the cylinder

3) no color is shown on draining
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4) washing should continue upward through the cylinder

PASSAGE III:

Absorption is a separation process involving the transfer of a substance from a gaseous phase to a
liquid phase through the phase boundary. Absorption is defined as the process of taking molecules
of one substance directly into another substance.

Absorption may be either a physical or a chemical process. Physical absorption depends on the
solubility of the substance absorbed, and chemical absorption involves chemical reactions between
the absorbed substance and the absorbing medium.

Absorption into liquid agent, either physical absorption or absorption into a solution of a chemical
base, 1s the most commonly used approach. These types of process are used almost for bulk
removal of acidic contaminants. Bulk removal means removal of the majorty of the acid gas
present in high concentration down to a level such as 0.1-2% in the treated gas. For removal of the

last traces of acidic impurities from gases, adsorption onto a solid chemical and conversion to
another compound is used extensively.

Absorption in gas processing only occurs at --—------- .
1) the gaseous phase

2) the liquid phase

3) the direct shift from one state to another

4) the boundary between the gaseous and the liquid phases

We infer from the text that the degree of contamination depends mainly on ---------- 1

1) absorption 2) conversion 3) impurity 4) solubility

It can be inferred from the text that gases may have a(an) --------—-- content of less than two
percent.

1) contaminant 2) base 3) impurity 4) acid

We know from the text that acidic contaminants are removed in bulks by being absorbed into
a(an) —-----mn-- ;

1) ax::;dir: solution 2) chemical base 3) gaseous agent 4) liquid substance

The chief difference between the physical absorption and the chemical absorption is in the
involvement of the absorbed substance and the --—---——-- :

1) agent 2) medium

3) reaction 4) solubility-of the substance

PASSAGE 1V:

Regardless of the process used, any simulation can proceed only from a knowledge of the quantity
and composition of the entering stream. The problem is to find a size to meet all contractual
requirements without excess capital investment. An oversized system, whose capacity is seldom
utilized, results in excess capitalization charges. The problems of the undersized system are
obvious. The real problem — how can one best accommodate the frequency and amplitude of the
fluctuations as they are likely to occur? No mortal man can predict exactly when and to what degree
a given fluctuation will occur. But .... With reasonable data, supplemented by reasonable judgment,
one can predict the likely extreme conditions and the possible frequency of the intermediate
conditions. Normal simulation, conditioned by the stochastic input, summarizes the procedure.

The underlined word proceed here means:

1) arise 2) begin 3) obtain 4) sustain

The phrase "excess capitalization charges" here refers to ---—----—-- ‘

1) additional costs of investment 2) excessive fluctuations

3) extreme costs of simulation 4) indispensable charges involved in investement
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